BALUSTER TOP
OF TOP RAIL

BALUSTER BOTTOM
lypeed—— OF 0P RAIL

\ FACTORY ASSEMBLED

WITH STRUCTURAL
ADHESIVE

HEAVY-DUTY WASHER
AND NUT FASTENED
TO THREADED ROD BALUSTER

S '

5/16" THREADED ]
ROD FOR

ATTACHMENT
BY MANUFACTURER ,(%

FACTORY ASSEMBLED
WITH STRUCTURAL BALUSTER TOP

ADHESIVE OF BOTTOM RAIL
\\ SUPPORT BLOCK AS T
o
h

REQUIRED BY OTHERS,
(SYNTHETIC MATERIAL e ~—_ BALUSTER BOTTOM

SUCH AS AZEK OR TREX) OF BOTTOM RAIL
BALUSTRADE INSTALLATION - OPTION 1

C—CHANNEL ATTACHED TO BALUSTER TOP
THREADED ROD AND OF TOP RAIL
ATTACHED TO STRUCTURE

AT ENDS, BY OTHERS.

C—CHANNEL BY
OTHERS
FIELD ASSEMBLED WITH BALUSTER BOTTOM
STRUCTURAL ADHESIVE TO OF TOP RAL
ALLOW FOR C~CHANNEL NOTE: C~CHANNEL COULD
INSTALLATION BY OTHERS ALSO BE ADDED TO BOTTOM
< RAL.  C—CHANNEL MAY BE
\_ REQUIRED FOR RAIL LENGTHS
HEAVY-DUTY WASHER LONGER THEN 12'
AND NUT FASTENED
5 TO THREADED ROD E BALUSTER
%[5 - 5/16" THREADED g
o ROD FOR 4
ATTACHMENT
] BY MANUFACTURER AR
FACTORY ASSEMBLED =lm
WITH STRUCTURAL BALUSTER TOP

ADHESIVE OF BOTTOM RAIL
\\ SUPPORT BLOCK AS T

REQUIRED BY OTHERS, ®
(SYNTHETIC MATERIAL b~ BALUSTER BOTTOM
SUCH AS AZEK OR TREX) OF BOTTOM RAIL

BALUSTRADE INSTALLATION - OPTION 2 (WITH C-CHANNEL)

BALUSTRADES Q§ |INSTALLATION

ARCHITECTURAL FIBERGLASS, INC.

SHEET NO.
SD-01 8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
2020 www.fiberglass—afi.com




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT;
APPLY A HIGH QUALITY CONSTRUCTION ADHESIVE
(RECOMMENDED: WELD—ON STRUCTURAL METHACRYLATE
ADHESIVE SS218 SERIES; OR LORD 7545—-F URETHANE
ADHESIVE) TO BOND CAP ATTACH TOP RAIL NEWELL POST

BLOCKING OR ANGLE/CLIPS BY OTHERS
ANGLE, BY OTHERS

KT B 2 RET HEAVY—DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED
ROD
5/16" THREADED ROD FOR
B g : ATTACHMENT BY
|55 RIES KAk MANUFACTURER
Y Y U
& SUPPORT BLOCKS AS
: : 3 /' REQUIRED BY OTHERS

U
\— ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

SCREW NEWELL POST INTO

BLOCKING (BY OTHERS). NOTE: SIMILAR
STEEL POST OR FRAMING ATTACHMENT FOR RAILS
SYSTEM ANCHORED TO THAT MEET WALLS OR
STRUCTURE (BY OTHERS). COLUMNS.

RAIL INSTALLATION - OPTION 1

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-02

2020




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT; APPLY A
HIGH QUALITY CONSTRUCTION ADHESIVE (RECOMMENDED: WELD—ON
STRUCTURAL METHACRYLATE ADHESIVE SS218 SERIES; OR LORD
7545—F URETHANE ADHESIVE) TO BOND CAP ATTACH TOP RAIL
NEWELL POST

USE 3"x3%4" CLIP ANGLE TO BOLT OR WELD
C—CHANNEL TO STRUCTURAL POST, BY OTHERS

FIELD CUT NEWEL POSTS FOR
C—CHANNEL, BY OTHERS

I C—-CHANNEL BY

7 OTHERS
BET 0 OBRET 0 ORNET HEAVY—-DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED

ROD

5/16" THREADED ROD FOR
% ATTACHMENT BY

s 2' B MANUFACTURER
&3 SRR
S SUPPORT BLOCKS AS
ik : /' REQUIRED BY OTHERS

T /

U
\— ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

SCREW NEWELL POST INTO

BLOCKING (BY OTHERS). NOTE: SIMILAR
STEEL POST OR FRAMING ATTACHMENT FOR RAILS
SYSTEM ANCHORED TO THAT MEET WALLS OR
STRUCTURE (BY OTHERS). COLUMNS.

RAIL INSTALLATION - OPTION 2 (WITH C-CHANNEL)

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-03

2020




WHERE NEWEL POST HAS CAP SEPARATE FROM SHAFT;
APPLY A HIGH QUALITY CONSTRUCTION ADHESIVE
(RECOMMENDED: WELD—ON STRUCTURAL METHACRYLATE
ADHESIVE SS218 SERIES; OR LORD 7545—-F URETHANE
ADHESIVE) TO BOND CAP ATTACH TOP RAIL NEWELL POST

BLOCKING OR ANGLE/CLIPS BY OTHERS
ANGLE, BY OTHERS

KT B 2 RET HEAVY—DUTY WASHER AND
o35 5|55 9 NUT FASTENED TO THREADED
ROD
5/16" THREADED ROD FOR
B g : ATTACHMENT BY
|55 RIES KAk MANUFACTURER
| Y Y U
& SUPPORT BLOCKS AS
: : 3 /' REQUIRED BY OTHERS

/

U

ATTACH BOTIOM RAIL TO NEWELL POST STEEL
W\ ANGLE, BY OTHERS. ADD BLOCKING OR
STRUCTURAL MEMBERS INSIDE NEWEL POST AS
NECESSARY AT ATTACHMENT POINTS, BY OTHERS.

THREADED ROD (BY OTHERS).

NOTE: TYPICALLY ONLY

L
ANCHOR THREADED ROD TO USED WITH SMALLER
STRUCTURE (BY OTHERS). NEWEL POSTS

ALTERNATE NEWEL POST CONNECTION (DECORATIVE / NON-STRUCTURAL)

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-04

2020




/~ 4°0 SPHERE

1.3/4*

’

2

!ﬁ 7/2'L L | 51/2

1 a

OPTION 1-4"SPHERE CODE SPACING

g

NOTE: NOT ALL BALUSTERS
CAN MEET 4°8 SPHERE CODE

2'-1 3/4"

5 1/2" L

SPACING IS _FULLY ADJUSTABLE

OPTION 2 - SPACING NOT 7O CODE

| 6 1/2" | L 6 3/4"
1 1

M

TR

BS-150 BS—-160

BALUSTRADES

INSTALLATION

SHEET NO.

SD-05

2020

ARCHITECTURAL FIBERGLASS, INC.

CLEVELAND, OHIO 44127—-1839
FAX:(216) 641—8150

www.fiberglass—afi.com
o

8300 BESSEMER AVE.,
(216) 641-8300 -




! ! 6 5/16” ,I|, 1L 7 1/2" L LG 7/8” 6

BS-170 BS—-180 BS—-190 BS-200 BS-220

| 6 5/8" | 6 1/2* L | 6 1/8"

6 7/8" | 6 1/2"
I

@2@

| | 7 1/2" | 7 1/8" | 6 1/4" | Ls 5/8" | Ls /4" 7"
1 1 I 1 1 1 1

L£s-290 = BS=300 = BS=310 0000 B=5200 0000 BS=3%0 B£5-340

Ar

-

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-06

2020




5 3/4"

BALUSTRADES Q§ |INSTALLATION
SHEET NO.

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com

SD-07

2020




